BRE W ﬂ?? "E e BRE W ﬂgi‘ n i HE 1R
O —ILAESR 0O0—U/MIDAI/IY SV ESR
2V FITF TP — O—LINyDF T PHEREET| 500 NIA=SvD B%E 15 o0-D
O—=ILNyDOFTI7— 2541% 1 20-7% Hem-E-@R-8 5200 #FA| 1000 D0-0 /EESEHRE
£ 1,800 450 700 BIRIYE| 200 NYH— 500 o0-D
ATF=T 800 800 74071040 1250 20 YT #2715 L/60KRAD 10 o0-D
SREHRT—Y 16,400| 6,000 0~1200 1 FRIATY R 200 280 o0-D
IN=FTIRFT—=Y 1,200| 2,400 1,200 4 e PEtiS] o0-D
RS TWRT—Y (REU UL 20—UY) 1,200| 2,400 6007900 | HBOOMmM/750mm/900mmTZE 10 BRIFAN 380 280 1 o0-D
AF—=IYARTYT 1,200 1,200 H1,200mmFa 2 NIV YN=FT1 Y3y 360 360 NIVEANS—:TS5vD 20 o0—-Dt%
2F—YARTvVT 900 770 600 HBE00MmM~800mmFA3 2 300 300 NIVEAS = T)b— 18 RO
BB 1,200 600 1,100 2 [iilhwi 625 1090 3| MIJAI2/TVRSYR
I=E 600| 500 1,000 2 EESRELRIRES B (BER 3 ipE g
=) 500 500 700 2
RO A ~R— R 1,890 600 1,800 2 OBARAND VI —ER
=EDHMDNRIVIS—FT 13V 1,800 2,100| PARU=:TSvo (UN=YT) 10 e EBANEE 2 BAR
1,800 500 1,800 2 BYK 1 BAR
INRIVN=FT 123> (B 1,200 500 1,800 12 2BY VD 1 BAR
L= —IR1v5— (R 2
NAFTP— 535(8W412) 605 |1,095(SH335) RO+ 8 OE=iEsR
ERT—TILI YT 10m/30/1500W 10 NIH=Sv D 850 650 NYFT—E10@ 6 =
28 10,000 7,000 REENYD 2 TAwT A ITANR=2 BRE « N—TV/28HNE =1 =
5,000 7,000 AREET A R 2 XA DTNIIH— BRE/ A DBED0/iE/EBR | SER e
20,000 7,000 BYys-t€vk 1 BREZS-TV BEBD/M—)LAIRE &1 =
5,000 7,000 BYs—-tFvy IR 2 Y] 457| BEE e
s Fmm 150 56 4 RHRE—N— B SIE e
HINDFT 25— (IREE 230 270 2 ftba&s LAN/RIREEE/ 1 YN LD =1 =
EFFREHST—-IT UpRight UL20E 1 A 2 610 535 Ly RIS=TL 4 Room1
BPIANILX Y EFRIEST—A 1 ET—J) 450 600 TS5v0 4/1 Room1/Room?2
BRAZENIL EPREIT—FA 1
O —IER
B 1,200 RYVUT 4TIV Y— A 40 BE s 900| 1,800 KEFTBRIE/AANT—TI 9 6
0N (8 16,400| 1,820 VY- rRRT—IA 3 BE 900 900 KETHBRI/ALT—TY 2 FEM
16,400 540 VY- rBRT—YA BE EEYNIRE 30 6
55 303 303 1| XETHHBRI/ALT—TY 40 f X i
TEEE 1 EEMW
2022. 113IR7#

BEAE=HFA—ILERIJX LR

KERRY, BEREEICLZENHYET,




